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2. This test booklet

is divided into two: pants, Part |
contains. 700 questions of General Mental Abllity
Test, Part |l contains: 100 questions of scholastic
-.Apti.tude.tes.t, all the question is: to be attempted.

4, All questions carry one mark each.

4. Since all questions are compulsory, do. not’
spend time. In reading through the whole
quastion paper before beginning to answer it

5. Begin with the first question and keep on trying

one ‘question atter another till you finish it.

6. 1f you do not know the answer 0 any question,

do not spend much time .on it and pass on 1o

. the next one. If time permits, you can come
back 10. the questions which you have left in the
first instance and try them again.

7.. Since the time allotted for the guestion paper is.
very limited, you should make the best use of it
by not spending too. ‘much time en any one
quastion..

‘8. Blank pages have been provided for rough work

at the end of test booklets.

9. Remember, you have to. imark answer on the

saparate Answer Sheet.

10.Answer Sheet has two specific. Patd {Mental
Ability Test) from serial no ©1 o 100, Partll
scholastic: (Aptitude test) fram 101 to 200, |

11.Answer to each question s to be indicated by

writing the' number of the torrect dlternative in

the answer sheet in the box provided against
each question.

12.Immediately after 120 minutes (189 minutes for

Visually Challenged group) you should stat
sltempling Pant || Aptitude Test guestions.
13:Now stat answering the questions.
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(Part - 1)
i General Mental Ability Test

Direction- In question na. 1 to 12 each question
has four terms. Each terms are alike in some
way. One term is different from three others. Find
out the correct term which is different from three
others and write its alternative number on your
answer sheet against the proper question
number-

Qn 01)_

1) R81 2) L19: 1) R81 2) L19

3) wa2s. 4) M16 3) W25 4) M16
Q2) Q2)

1) CIM 2) PGW N 1)} CJM 2) PGW

3) RBT _ ®SFH .. 3) RBT . . 4) SFH
Q3) o S ey e

1) Z8R 2) Q13D b 1) Z8R. 2) Q13D

3) M22K 4) T14F 3) M22K 4) T14F
Q4) : Q4) |

1) BDG 2) HIM 1) BDG . 2) HIM

3) QsV . 4) KMH " 3) Qsv . 4) KMH
Q5) | Qs)

1) & 2) R 1) Lion 2) Deer

3) zw &) S 3) Wolf &) Fox
Qs) - | Qe)

1) AoEY 2) 3‘1‘321 1) Labour 2) Doctor
'3) CES 4) g : 3) Student © 4) Tailor
Q7) | Qa7)

1) 39 F&HA 2) T 1) Deputy Chief 2) Governar

R— PR . 9 I':inister . | |

rime Minister 4) Chief Minister

as) | as) o

1) g 2 T 1) Kanpur 2) Lucknow

3) W& 4) fafqe 3) Merut 4) Mirzapur
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Qo) _
1) 13, 7 2) 24, 19
3) 38, 27 4) 45, 29
Q10) ;
1) 1980 2) 1924
3) 1946 4) 1996
Q11)
1) 133 2) 147
3) 182 4) 234
Q12) )
1) 325 " 2435
3) 585 4 735

fde v 13 ¥ 24 T FEARR F Aol ww
ot e § wee Aol F g ue @ Rew
T () & i T § AR RY R R Resut
A { I € A A A R swd dewrar

Q9)

1) 13, ? 2) 24,12

:’;.} 36,27 4) 45,29
Q10) -

1) 1980 2) 1924

3) 1946 4) 1996
Q1) |

1) 13% 2) 147

3) 182. 4) 234
Q12)

1) 325 v 2) 435

3) 585 4) 73.5

Direction- Question no.13 to 24 are based on
number / letter series. In each series missing
term is indicated by Blank space (-). Find out the
‘missing term out of the four alternatives given
beiow and write its alternative number against the:
correct question number on your answer sheet-

TE T FEW F WIS H FOQAF W oy
- — l
Q13) 1.44_6114_661.446_ Q13) 1_44_6114_661_446_
1) §141s-_ " 2) 16416 M) e1418 2) 16416
3) 41416 4) 64616 - 3) 41416. 4) 64616
Q14) _A_CCA BC AABC.. Q14) _A_CCA_BC AABe
1) ABACG “k ELARAER 1) ABACC _— ABACB
3) CABCA 4) AABCC 3) CABCA 4 | —
Q15) 38, 68, 608,1823 Q15) ':3_.‘-'3? 68,608, 1823
1) 25, 199 - 2) 29, 205 9 __25':" : ‘--. 5
% 2. 203 PO oy 1 2) 29, 205
Q18) 9, 84, = 216, 49, _ 81 a6 & -. | 4) 24, 136
95 8, 7 —_— ) 184, 218,49, _ g4
3) 30, 64 4) 32, 63 3; 33': 2) 25,512
Q17) B D _ H 3 . 30, |
" E5r 13; ' 241 X+ 3’5-"‘13‘% Q1?j_ % D i g 4) 32,863
) &, N 2 F o | 31 134, T
3 v o 518 DEN WL s e
, G M 15 2 F
9 37 8517 3y F 'Z:E ) i~ "1'05'
NTS 2020 = 517 4) M




Q18) 121, 144, 169, 196, _

1) 223 2) 225
3) 227 4) 229
Q19) 216, 343, 512, 729, _, 1331 .
1) 1000 - 2)8%4
3) 819 4) 1217
Q20) 782, 6C, 15E, _, 30J, 26M
1) 24H 2) 21G
3) 181 " 4) 16H ,
Q21) F_UR OU_FO_RF_UR N .
1) OFRUO 2) FUOOR
3) FROUO 4) ROUFO
Q22) 0,2 6, 20,30, _.
LR U [
3) 12 416
Q23) 9, 10,8, 11, ,12,8, 45
1) 7,13 2)6 13
371 e W& 12
Q24) CD; XW, _, VU, GH, _, IJ, RQ
1) FE; TS - 2) DE, UT. - .
3) FG, ST " 4)EF, TS

Q25) dr #3 ser 3F IR HUNDRED &F
NUHDDER forar siar § & 3dv-smr &
KITCHEN % #Y2 a1 19mr?

1) HENTIKC 2) TIKCNEH
3) {TKHCNE 4) TKICNEH

Q26) A #z s # 7R POSTMAN #
OPRTLBM fa@r oy & & =i sy o
BROTHER & &g &41 g7 -

1) ARNTGDQ 2) CSNSIRE
3) QAPTEIS 4) ASNTGFQ

1 Q18) 121, 144, 169, 196, <

1) 223 C 2) 225

3) 227 4) 229
Q49) 216, 343, 512,729, _.1331
" 4y 1000 . 2) 894
. 3) 819 - 4 1211
Q20) 78Z,6C, 15E, _,30J, 26M
' 1) 24H 2) 21G
- 3) 18l ~ 4) 16H
Q21) F_UR_OU_FO_RF_UR

1) OFRUO " 2) FUOOR
' 3y FROUO ~ 4 ROUFO
Qzz) 0.2,6,_,20,30, _

18 210

3 12 416

Q23) 8, 10, 8. 11, i ;’fﬂ,., 6._..5

TR 2) 6,13
3) 7,12 . 4812
Q24) CD,XW, _, VU, GH,., W, RQ
1) FE, TS 2) DE, UT
3) FG, ST 4) EF. TS

Q25) In a certain code language if HUNDRED is
- written as NUHDDER, what will be code of
KITCHEN in same language?

1) HENTIKG
3) ITKHCNE

2} TIKCNEH:
4) TKICNEH

Q26) In a certain code language if PFOSTMAN is

~written as OPRTLBM, what will be code of
| BROTHER in same language?

1) ARNTGDQ
3) QAPTEIS

2) CSNSIRE
4) ASNTGFQ

" NTS 2020

Contd,




- | } - i lanquage if BLOCK is written
Q27) R g smwr AR BLOCK #r 43 foer | Q27) L’lia Gf'*w:':tmebe g HOUSE i same
Fram & | 38T Hr # HOUSE & #E FAT {anguage?
1) 68 2) 81 1) 88 2) 61
3) 67 4) 63 3) 87 4) 63
) code lan it BOUND is written:
Q28) fa=l ¥z sw 3 IR BOUND & 112 Rar | Q28) :‘a; f:ﬁ:i’; mnmm Lok
Srar & @ 3% s 3 WKITE & #is & language?
a7 |
1) 132 2 103 1) 132 2 103
3) 130 4123 3) 130 4) 123

Q29) =l Nz are X IR ELEPHANT &
LEPEAHTN frar svr & ar 5o sner &
QUESTION & 3T &1 BoT?

1) UQSEITNO 2) SEUQNOTT
%) UOESTING 4) EUQITSON

Q30) = VT ww & AT DRIVER & RDERVI
fvar arar & J@ 3@ 5w 3 WINDOW &t

a7z = Qa?
1} WIWOND 2) WIDNOW
3} WwWOIDN 4) WOWDIN

Q31) el Wiz 5w & IR’ FROG # 2116 far
an § A 3@ H X NEST W H3 #r
@
1) 3262 2) 3364
%) 3436 4) 4363
Q32) Wi w7 swr & 2k COVER # EMXCY
ﬁmmtaﬁmmimﬂmwm

Q28) In a certain code lenguege f ELEPHAM‘ "]
written as LEPEAHTN. wnat will be code of

QUESTION in same language?
1) UQSEITNO 2) SEUQNCT
3) UQESTINO 4) EUQITSON

Q30) In a certain code language ¥ DRIVER i written
as RDERVI, what will be code of WINDOW in

same language?
1) WIWOND 2) VIDNOW
3) WWOIDN 4) WOWDIN
Q31) In a certain code i FROG is written
&2116.*?\&““““*5-[““
language?
3) 3438 &) 4363

Q32) hammmagaucovsnum
8 EMXCY, what will b9 code of BIRTH In
#ane language?

&= g
1) DTSy .
¥ Aceal & 0GRy 3 AGSQ S cond
' 4) DGTRJ
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Q33) P #z s # af XDRL #Y 12296 foar
siar & A 34 ser F NHTV &7 #1510 «

1) 72511 2) 1481022
3) 741011 4) 7856

Q34) ARl Pz sTe & 7 HOCKEY F YOKCEH
@y s & @t 38 s & PENCIL &1 #13

1) LECNIP 2) LICNEP
3) NCEILP 4) LICNPE

Q35) fdr #z smw F I RUBBER #1 BERRUB
fa@r sar & @ 3¢ s ¥ BUTTER &1 13
4T e

1) TTBUR
3) TUTREB

&

2) TERBUT
"' 4) UBTTRE.

Q3g) foreh Bz s # M SHARP &1 58034
@y Srar & @Y 34 smer F RASH &1 #1S.

m. m = ) . — I
1) 3058 ' 2)3045 "
3) 3854 4) 5384 - °

fr¥w- W F. 37 § 48 7% e & 90T FA &

FROT 9ot F FAEOr e B T ) acde R

# A % Rwedt F ¥ B 7 A R
SR 3 9% WET F AFA WIS T g T

I a certain code language it XDRL is written

33 \
asi) as 122986, what will be code of NHTV in same:
language? :

1). 72511 © 2) 1481022
3) 741011 4) 7856 )

Ih a certain code language if HOCKEY is
written as YOKCEH, what will be code of
PENCIL in same language?

Q34)

2) LICNEP
4) LICNPE

© 1) LECNIP
3) NCEILP

In a certain code language if RUBBER is
written as BERRUB, what will be code of
BUTTER in same language?

Q35)

2) TERBUT
4) UBTTRE

' 1) TTBUR

TUTREB

Q36) Ina certain code language if SHARP is written
as 58034, what will be code of RASH in same

language?
i
' 1) 3058 2) 3045
3) 3854 4) 5384

DIRECTION- In question 37 to 48 the equations
have become wrong because of the wrong order
of signs. Choose the correct order in signs from
‘the four options given below so as to make the
equations correct. Write the alternative number of
the correct option on the answer sheet against
the comesponding question number-

fasrea #8307 99 9% R , .
Q37) 2+#40-92=8x20 Q37) 2+40-92=8x20
1) K=t 2) ~ =X ) x=+= 2 ~+=x
3) SX#e= 4) t=%x= 3 =%+~ 4) +,-,g«;é
Q38) 34 -6=18+66+3 Q38) 34-8=18+66+3
o B i ol 2) FH~= 1) =4t 2 at-=
3) + =% 4) t+=— 3) $m=u 4) 4o=r
NTS 2020
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-

W) 2-21x7=17+1

Qsg) 2-24x7=17+11

2) =
X —% & 2) x=—+¥ 1) x—=# gt
1) - . A) x 4=
gy =— X+ 4 x+=- I =—- x4+
40) Tx3=4-6+1 Q) Txd=4-6e1 i
§y —+=% g) +=rx 1} =tmx B
3 ~*+x= g +mx> 3) wtx= i o
A1) 6357+ 44488 G41) B3mT7+44+8-41
1) A =— 2'-1--#-.- 1) s 4= z)ssfap-
3) +—=+ 4) ¥=+- 8) p==+ W o
42) 9x2%5=10+6-8 Q42) BOXx26=10+6.9
1) =X 2) =X~ 1) —4e=x 2) =4 x-
3 == q xH-= I =x4- ) xt-=
q3) 41 -32+ 10 =9 + 54 Q43) 41-32+10=9+54
1) +=—+ 2 t-=+ 1) pmm s 2) 4—=4
i) 15=5+3=17Tx8 Q44) 15=5+3+17x8
L} kt+=+ 2 TrIF= ) x+== m+x+=
H XE=F 4) TEEX 3} x+=+ 4 +=5x
45) 3B +2-46=33x3 Q46) 38+2-46=33x3
il BETE- N =x+- A xa=m
g =¥ 4 —+=% ) x=+- & snn
48) 15 =7 x2-5+4 Q46) 15=7x2-5+4
9" Bx-t= 9 x-+w Y
N ~+ex twey X
? | 3 —my ‘ii--.:lg—
“ﬂ 2‘-‘"!"2‘7 mn uwa'ﬁ'.‘z.?
1) F=e— V- Bk ad "
3, o+ - 4'1--;1. TR a-{p;«i—
a} - q &
48) S=B8-WvaxTH e 8 -5d
1) —=+x 9 teny "0-2Wraxta
3) XF—¥ HHxee V-siy 2w
’ 8 x= i
NTs2020
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- - DEIRECTION- Question 1o 49 to 58 numbers are
Py srest e 49 ¥ 58 # FEAd W e placed in figure on the basis of some rules. One
e ¥ Rt A & # o v A place is vacant which istindichzled as (t?).l Find c::;
; ' - the correct aiternative for the vacant place and
e a1 v e R we e (7) 8 wreite ite number against the proper question
Zafar a3 R e ¥ R R o ar number on your answer sheet
et F ¥ w8 Reey @AY st sadr e
FT T IAT TIF W Ay e & anst
Q49) L] ¥ jh Q4b) s 7 e
s 0§ . 7 C i) ¢ T
)3 26 ) 1) 3 He
)8 4) 10 _ 3 8 o 10
Q50) T s —I— Q50) 5 Y i
V v 1\1/ _ v N\ B fer\ 1 [?
1) 19 - 913 1) 18 R
)7 4) 4 3 7 94
Qs1) 2 by z Q51) 3 - r
T € 8 -12 s 13 ? s 8 Qa5 4
N4 2)6 1) 4 DS
38 410 38 410
o52) B ” " Q52) L w "~
. iy U v O 3
70 2 §7 - 8 s?
3) 28 é) 46 3 28 rY
Q53) 2 $ 1 Q53) 2 - i
H ’ ' < - ;
N » 2) 84 1 @ 2 64
i 412 3 o0 0120
NTS 2020 2 m— —




254} lglalrs|jelales||7]3
1) 25 2) 52
3) 21 4) 12
ass) [155]31[36]9]2][s0[2
1 4 2)7
3)5 48
Q58) . 3 T \4_
4] 4 |6| [2| 5 |4 3] 2
7 / /B
1) 6 2)7 -
3) 8 4) 8
Qs57) 8 7 112 176
26 9 T
5 2 12 45
1) 18 2) 28
3) 38 4) 48
Qse) & 27 132 12 18 &
13 | % | ? .
3 2 ‘.6-‘ "o 1 9
1) 15 2) 12
)30 [ I 4 8

Ry e wEar 58 4 63 TR g w
IR §| I B o ¥ o 3 vew e
F A RA 7 9R Recdt & F 8 Raew &1
T W W W T % g afas-

R F e, JE Hie AT v 9aew ¥ g
& e, HOA 3R Rt g qwew ¥ weEw w
HIH, T N gAter vge qHew #1 @At o
wfora, BT IR Bedt agar qaea &) mure @)
Faq R gger e 1

Q59) e W AT F@t 30F TEH gwE D §

Qs4) [glg(73||6(|426[|7|3]|?
1) 25 2) 52
3) 21 4) 12
Qs5) [45(5 3 |[38[9]2|(50/ 2|7 )
1) 4 2) 7
3) 5 4) 8
Qse) [N 5 3 7 N4,
4 4 |6} [2| 5 |4 [3] 7|5
il 5N /B
1) 8 2) 7
38 49
Q7)) 8 7 112 176
26(. (9 ?
52 312 4 5
1) 18 2) 28
3) 38 4) 48
Q58) 8 27 132 12 18 _6
13 1‘4" ? -‘
3 2 8 1t 1 o
1) 15 2) 12
3} 10 4) 8

DIRECTION- Question no. 59 to 63 are based on
the foilowing information. Read carefully the

information and find out the correct altemative for
each question-:

Ramesh likes to study Hindi, English and Maths.
Suresh likes to study Science, English and Hindi.
Ahmad like to study English, Maths and Geography-
Bobby fikes to study Maths, Science and. Hindi.
Gopal likes to study only Hindi.

Q89) Which subject is liked by most of the boys?

1) Rsmr .2) 3R 1) Science 2) English
3) Ry 4) oo 3) Hindi 4) Maths

“NTS 2020
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Q80) P wgd FISh o #a 7

1) & 2) &
3) &= 4) oy
Qet) Frae @s% fame gEee o §2 '
1) TH - e y
3) &= 4) 9T

Q62) wi @1 Ay qEY FH d5H e ‘3?

1) s@e ] 2) st
3) R - 4) aifore
Q63) WTT e J5F THG T 87
1) a@ yd=R
3) E'T go Vg 4) her- "o

By W AT 64 ¥ 68 IF Wdw A AW @

HECR g R o i ko

R I AN T A N AR
et o @ BifEY I FEH Riaow e A

Qe0) How many boys like English?
| 2) Two.
4) Five

1) One
; 3) Three
Qé1) :Hoﬁr‘- many boys like Science?
1) One T 2)Two
3) Three B 4) Five
Q@62) Which subject Is liked by least of the boys?
2) English:
4) Maths

1): Geography
|
J) Science -

Q63) How many boys like Maths?

: 1) Four 2) Three
! 3) Two © 4) One

DIRECTION- Question no. 64 to 68 each -
question has four terms. Three terms (figure) are
alike in some way. One term (figure) is different
from three others, Find out the carrect term whick
is different from three others and write its
aiternative number on your answer sheet against
the proper question number-

LI A pre— PNk
1 - 2 i 3 4 : 1 2
o [ 112 [ A
ododedad| [T odox
K 2 3 4 K 2 3 4
Qe?), __ r T‘ i Qe7) — 1 , (‘ .
X, B XIRIR,
g e -
~ NTS 2020
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Q80) P wgd FISh o #a 7

1) & 2) &
3) &= 4) oy
Qet) Frae @s% fame gEee o §2 '
1) TH - e y
3) &= 4) 9T

Q62) wi @1 Ay qEY FH d5H e ‘3?

1) s@e ] 2) st
3) R - 4) aifore
Q63) WTT e J5F THG T 87
1) a@ yd=R
3) E'T go Vg 4) her- "o

By W AT 64 ¥ 68 IF Wdw A AW @

HECR g R o i ko

R I AN T A N AR
et o @ BifEY I FEH Riaow e A

Qe0) How many boys like English?
| 2) Two.
4) Five

1) One
; 3) Three
Qé1) :Hoﬁr‘- many boys like Science?
1) One T 2)Two
3) Three B 4) Five
Q@62) Which subject Is liked by least of the boys?
2) English:
4) Maths

1): Geography
|
J) Science -

Q63) How many boys like Maths?

: 1) Four 2) Three
! 3) Two © 4) One

DIRECTION- Question no. 64 to 68 each -
question has four terms. Three terms (figure) are
alike in some way. One term (figure) is different
from three others, Find out the carrect term whick
is different from three others and write its
aiternative number on your answer sheet against
the proper question number-

LI A pre— PNk
1 - 2 i 3 4 : 1 2
o [ 112 [ A
ododedad| [T odox
K 2 3 4 K 2 3 4
Qe?), __ r T‘ i Qe7) — 1 , (‘ .
X, B XIRIR,
g e -
~ NTS 2020

1

Contd,




+ 2 3 4 1 | . ':
- | o Direction-in question 89 to 84 there are four
Ry oA FEar 69 F 84 dF YAH H AN TR machqquestion. The relation that exist .
#) w¥a o B ot 3R F oy wet A I wEe between the terms left to the symbol :: is the
, . . g same between the terms right to the symbol <
afy ey o & ol 3R & & w R AEE ‘Out of the four terms ane term is missing in c-feach
I &y oy e | question. The missing term fs one of the four
e #H F 9 LAl ¥ ot vt & oA R ilﬂ' altematives given below each question. Find out
e # 4 oF ¥ 7l Aweq #1 T T 3TR the correct alternative and write its. number on
o TG A T W WEAT F T H I your answer sheet against the proper question-
o7 9y fafad- s o B 1me -
Q69) RSTU : YXWV & GHIJ 7 =+ .| aes) RSTU:YXWV i GHI:?
1) NMLK =t 2) MLKY awl 5| 1 1) NMLK t2) MK}
3) NLMK HMKIL | 7 3) NLMK 4) MKJL. -
. sk ) . o - ‘
Q70) 16 22 .. Q70) 16 22
) — 4086 — 2 7 " , ) — 24096 = — 2~
¥y~ E e ; 1@ -
1 a8 C2)48a T L) 448 2) 484
3) 243 A)2H et S ' 3) 243 423
Q71) DGK : 462 :: NIF : 7 Q71) DGK:462:: NIF:?
1) 648 2) 630 - 1) 648 2) 630
3) 540 4) 756 3) 540 4) 756
Q72) % IR u S ? Q72) Cold : Hot :: Life :'?
1) 3y 2) 7 1) Age 2) Death
3) g'® i 4) Farey ' 3) Pleasure 4) Heaith
Q73) @ ;A S gE i ? Q73) Lock: Key :: Needle : 7
1 : 2) ier 1) Cloth 2) lron:
3) &9 - -
3) & 4) qT | 3) Tailor 4) Thread
Q74) B¥T W ARG 7 | Q74) Cricket: Run:: Hockey :
1) ::W 2) Mw 1) Field 2) Goal
3) e 4) Rodr e
| ) 3) Ball 4} Player
Q75) MAN : g
..) MAN : REHTAF  WOMAN ;7 Q78) MAN : REHTAF © WOMAN : %
1) RAHTOM 2) RETHAM 1) -
| 1) RAHTOM 2) RETHAM
3) REHTAM 4) REHTOM 3) REHT o
| AM 4) REHTOM
NTS 2020 -




Q7e) o el ol 2
1) &9 2) =y
3) &t 4) ¥8%
Q77) 2 -
6"
1) 9 2) 8
3) 6 45
Q78) & : fagdr e A1 7
1) 2) ST
E) I S 4) 3T
Q79) 491:7:534.:7 .
N6 9
3) 5 48 .
Q80) FHEr

3
36—
2.

(Question) . ,

Q81) FHAEAr :

Q82) FAET .

(Question)

- A ke w
. % . o . JiFL N
1 \ N . T
1 : b
'
el .l 8 i
LI * L

Q83) T 3

(Question)

__I :7 , I\ ::_

Q84) FrwEm

(Question)

- et ———
—_—— | . i o T— |»
—_— | . LI —— S
: L

1) Steam
3) Rain
amm 2
o
18
3) 6
Q78) Brick: Soil :: Bread : 7
"1) Fire
" 3) Wheat
Q79) 491:7::534.:7

Q80) I 3

{Answer)

Q76) lce: Water:: Water /2

2) River:

4) Sea .

2) 8
4) 5

2) Cook
4) Flowr

6. 29
35 - 48

VI

Q81) j

1 2

™

%

Q82) 3 ITFR(Answer)

510

2

1
Q83) IW HFT(Answer)

3

4

V

53

4 2
Q84) I {(Answer)

3

4

1 2

3

.

4
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Bly- v 85 8 05 & o2 g & o 4 RF
Mbotw NN P ImE Rata
ot waru b e R ) gt # A d
w8 7t § e ww & B s
oAt et
WA SR & o & R v A2 B A @ B
38 MY RA U RAewt & A @ity ik 3w
Mewy wour # 3av w1 97 wha T dew &
/=S ferd-

o T
w2 W3 -4
Q¥

Q85) HEUTTy sEEy A

1

Direction- For question 85 to 95 four sets of
circles have been given below, Three circles of
sets have some relation with each other.
Questions given below have three words each of
which are also related to each other in some way.
This relation between words is similar to that in
‘one of the sets of circles. Find it out from the four
options given below each question and write its
serial number against corresponding question
number on your answer sheet-

. | | Figure
Set-1 Set-2  Set-3

)09(

Set-4

=0

Q85) Hospital Doctor Nurse

1) -4 2) %z 1) Set-4 2) Set-1

3) ¥=2 4) 3z-3 3) Set-2 ) 4) Set-3
Q868) TRw FiEer gey Q86) Advocate Female Male

1) Az-4 2) de-1 1) Set4 2) Set-1

3) ¥z-3 4) qT-2 3) Set-3 4) Set-2
Q87) BT AN ZHW Qg7) City Market Shop

1) @z 2) 94 1) Set-1 2) Set-4

3) ¥e-3 4) ¥T-2 3) Set-3 4) Set-2
Q88) fiwr A¥vE T ) Q88) Minute Second Gram

1) Je1 2) ¥e2 1) Set-1 2) Set-2-

3) {3 _ 4) qc-4 3) Set3 4) Set-4
Q89) e g Teaw QB9) Cricket Hockey Football

n -2 2) @3 1) Set2 2} Set-3

3) de-1 4) qc4 3) Set-1. 4) Set4
Q90) weifeR Tl Asr Q90) Fumiture Chair Table

1) -1 2) a4 1) Set-1 2) Set4

3) -3 4) 9z-2 3) Set-3 4) set.-zb

NTS 2020 1, -




Q1) Tl =Y asfha

1) A1 2) ¥T-2

3) ¥=3 4) Jc-4
Q82) aher dter odr

1) ¥e-3 2) de-1

3) dT-4 4) T2
Q83) ITFENR AN USH

1) Je-4 2) V-3

3) dz-2 4) ¥4
Qo4) AT AT faelr

1) ¥-3 2) ¥4

3) de- 4) Fz-2
Qe5) AT T HEE

1) ¥2-3 2) qe-2.

3) ¥-1 4) qz4

Py PRl waw & te & o atk 3w
W T WA HEAr 96 & 100 F O meA ¥
oY RY 7% AR Rwedt F F w8 s & ww
A IR 37 FFer A =37 # IR FR T
W AL W dear & aEe fafda-

o & 7y 3o #F g 7 vw ArE ¥ A7 BT
& 11 af w37 ¢ feg &9 VBT 7 5 @ oler #
Q88) w=d it g e 87

1 &

Q91) Train Car Bicycle

1) Set1 ~ 2) Set2
~ 3) Set-3 4) Set-4
Q92) Garden Plant Leave
1) Set-3 2) Set-1
3) Set4 | 4) Set-2
Q93) Sky Stars Road
1) Set-4 2) Set-3
. 3) Set-2 4) Set-1
Q94) River Fish Cat
. 1) Set-3 2) Set-4
3) Set:1" 4) Set-2
Q95) Pond Water Frog
1) Set-3 2) Set-2
3) Set-1 4) Set-4

Direction- Question no. 96 to 100 are based on
foilowing statement. Read the statement carefully
and find out correct alternative given for the.
question and write correct alternative number on

your answer sheet against the corresponding
question-

Sam'’s age is one fourth of Ali's age. Sam is sleven

years elder to Rahul but Deepak is five years
Jyounger to Rahui then-

Qee) Who is eldest? :

2) & 1) All 2) Sam

3) duw 4) TEE 3) Deepak 4) Rahut
Q97) wad w7 g wd 7 Q97) WWho is youngest?

1y ardr 2) 87 1) Al - 2) Sam

3) Q= 4) UBF 3) Desapak 4) Rahyl
Q88) U Auw &y g 9 A § A HAT A g G98) If Deapak's age is nine years, what is the age

e ' ot Aii?
1) 85 af 2) 90 =¥ 1) 85yra 2) 90 yrs
3) 97 =% 4) 100 ™% 3) 87 yrs 4) 100 yrs.
NTSz020 18
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t is the difference between the age of Sam

Qo9) &7 sy Qo H G H Faar H & Qe9) Wha
and Deepak?
1) 16 a¥ 2) 9 af 1) 16yrs 2) 9yrs
3) 11 af 4 5ad 3) 11yrs 4) 5yrs
Q100) af o= $r 3y 8 af ¥ ar e at'rﬁ & |Q100) f Deepak’s age is eight years. how many years
R af wm &7 is Ali elder to Deepak?
1) 92 a¥ 2) 88 ¥ 1) 92yra 2) 88 yrs
3) 80 a¥ 4) 78 af 3) 8Oyrs 4) 78 yrs
~ NTS 2020
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(wvg

(

dfte HfiefY aheor

qort
2, gt

TET: 2 U
(vRenftra snitaf ¥q)

100

it ¥ fav Sy

1. oy & & vy @t & v 36 v §

(@) e T, 101 & 140
(@) wrAToTe HeUSe wH. 141 & 180
wH 181 & 200

(37) 1o
2. wh Ryg & gt F 3w SO
3. 9% wew & A R 7% 9 Riow 3 @
w8 Rwew $ =g AT FT IA-99F ) T

A H@E ¥ gaw Bt

4. 39 w1 3y P

e —

)
Part - If)

SCHOLASTIC APTITUDE TEST

Time : 2 hours Full Marks : 100

(For physically challanged group 2'/2 hours)

INSTRUCTIONS FOR THE CANDIDATES

1. Part Il consists of three subject groups
containing questions as following.

(a) Science: Q.No. 101 to 140

(b) Social Studies.  Q.No. 141 to 180

(c) Mathematics Q.No. 181 to 200

2. Atternpt all the question from every subject
3, Find out the correct alternative from given
four alternatives for each question and write

its number on your answer sheet against
proper question number.

4, Please start your work,

T - g0 ot qfeaET & % w4 & AR W o o T R
N.B. - Do not write. anything in the booklet except rough work,

NTS 2020
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Q101) T F HEAB B-
1) #AeVdHTs 2) =gt x A
3) ParAeyddvs  4) R i ddoE
Q102) e sad oy & =g & stfos iRy T
W 87
1) Gl & 2) #ifasr Tl
3) Reulds F 4) Frqot e

Q103) v ey 1 Rvor W (u=Y/2) & W
(n=4s) # dafta e &1 wieaw or &

1) sin! (') 2) sin”! (459 )
3) sin (3/s) 4) sin (°7)

Q104) g o EcHE @IUN(g) FT A HwaH

e &- |
) W g W
PFEHWR @ A FR W
Q105) Frwfafaa & # &1 3 Jm s @ w5
3eTECeT B-
1) afrT 3 2) Wi =t
3) nax Aa 4) 9a Fat
0108) iz % Rw TR vy & s Rwmar mw g
ar oy A |

. e

1) Roowr aor 2) 3IEIA Py

~ Science
| Q101) Unit of romentum is
4) meter/second 2) Newton x meter
3) kg-meter/second ) kg 'meter second™”
Which one of the following.physipai quantity is
o constant in simple harmonic motion?
2) Kinetic energy

4) Totat energy

Restoring forcé
Potential energy

1)
3)
Q103) A ray of light passes from giass (P="/2) to

water (U=4/3). The value of critical angle wil

be-
" sin (V/2) % sin (%)
3 sin! (%0) 4 sin* (%)
Q104) The value of acceleration due to gravity (g) o
the earth will be maximuwm at-
1) surface 2) poles
. 3) equator 4) center
Q105) Which one of the following is an exampie of

Biomass Energy source.

1) Nuclear Energy 2) Sun Energy
3) Gobar Gas 4) Wind Energy
Q108) The refraction of light by a prism is shown in the following

figure. Then Angle <D is-

1} Angle of prism' 2} Angle of refractiof
) iﬁTﬂr 4) R @ 3) Angle of emergent  4) Angle of deviation
Q107) o= & &THA F AR B (Bloptre) ¥1 [ Q107) The unit of power of a lens s dloptre. Then oné
AR ST W g ¥ diopter (1 dioptre) Is equal to--
1) 100 ¥ 2) 1 #Aex? 1 400 om't 2) 9
o A | em " 1 meter
) 1 4) 100 It 3) 1 meter 4) 100 cm
“NTS 2020 = ' —
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T

9108) off SW A=W & BFF I (F) & & 2F B

Q108) IfF be the focal length of a convex lens, then
the nature of image of an object placed ata

« @l 7Y & TR g e distance of 2F will be-
1) aref¥®, 3R AT 2) I, Wew g 1) Real, inverted and  2) Virtual, erect and
AA I FT BreT same size small
3) aafas, @ur qur  4) 3w, Soer qur 3) Real, erect and 4) Virtual, inverted and
AW HHT F TR THR T same size same size
0108) FHWE E9vT HY GHar Bl §- Q109) The Power of a plane mirror is-
1) %wT {0} 2)+ 1) Zero (0) 2) #1
3) -1 - 4) ¥t d e 3) -1, 4) Infinity(e)
Q110) ¥ AR # 9y 4Q & afy arv &y @+ [Q110) The resistance of a wire is 4Q. If iength of wire
. , is made double and area of cross section is
o T (g7 IR HRT Fre H S made half, then the new resistance will be-
3T F A S Fw A afad g i
1) 10 (30#) © 2) 16Q (3=) 1) 10 (ohm) 2) 16Q (ohm)
3) 40 (3H) e 4) 120 (3w s 3) 4Q(ohm) 4) 12Q (ohm)
Q11) Fesfaf@a & & @ & searedt oy gy | Qi) Which one of the following-altemating cusrent
o Wi 3 STOR & o & is supplied in our house hold circuits-
1) 110V 3 50 Hz ° 2) 220V 3 60 Hz 1) M0VandS0Hz .. 2) 220V and 60 Hz
3) 110V 3T 60 Hz  4) 220V 3R 50 Hz _ 3) MOVand60Hz . 4) 220Vand 50 Hz
Q112) 100 watt ¥ &a & fhaey 5 Fae W 6 | Q112) How much time will be taken by a 100 watt
—yy bulb to consume one unit of energy-
1) 1 Her 2) 10 Her 1} 1 hour 2) 10 hour
3) 100 ger 4) 1000 wer - ., 3 100hour 4) 1000 hour
QN13) F=rf@a & &5 &7 Far &0 mmﬁa: AT | Q113) Which one of the following is not a
conventional source of energy-
7 8- ‘
1) Fraer -~ 2) oA 1} Coal 2) Peatroleum
3 I\ 4) @tF 33t 3) Hydro' 4) Solar energy
U14) Prfafam & & & & 909 |99 At Q114) Whllch of the following element is mare electra
_— positive?
1) Br 2)F 1) Br 9 F
3) Cl 4l 3 al 4]
Q15) 32 g B Houfrw wE e uig & A g | Q118) Th; name of metal which decomposes water in
coid is:
1) Cu 2) Pt 1) Cu 2) Pt
3 Ag 4) Na 3) Ag 4) Na -
NTS 2020 Contd.
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Q118) #qT Fr TF NEAA By F 7 A W IF

v &
1) Fgaa 2) 3tauTes
3) fdes - 4) arsdragor
Q117) RAET aur Feot A Fegs f AwHiear
# g g & -
1) FARESA 2) vl FANEE
3) #ees W 4) TR T

Q118) v+ faawa & HY wEaT fr |sEr 2 % 108
a7 gfa dex &1 Rewa & PH &= & (logo
2 = 0.3010)

1) 7.699 2) 7.599.
3) 7.799 4) 7.899
Q119) PRefaf@a # & #9 & dcg TREdt Fatewd
YT HA 8?7
1) ] a9 2) WE® fed.
3) THAOT T 4) 3ot & WE &

Q120) Fretaree ¥ A wfEke §
1) Zn+HzS04 — 2) 2KBr+Cli—2KCl+Brz
ZnS0s+Hz ‘
3) 2H+02—+2H20

Q121) fre dtfiE # uag HHo quT W BAEE

4) 2HgO—2Hg+02

Q116) ©On heating camphor in a porcelain dish it got
mixed in air without melting. This phenomenon
is known as:

1) Condensation: 2} Sublimation

3) Suspension 4) Evaporation

Q117) Ethylene and Sulpher monochloride on heating
gives:

2) Ethylene chloride

4) Ethylene giycol

‘1}. Chloroethane
3) Mustard Gas:

Q118) The H* ion concentration of a solution is 2 %
108 mol L™ . The PH value of the solution is-

{log1o 2 =0.3010)
1) 7.699 2) 7.599
3) 7.799 4) 7.899

Q119) Which of the following elements exhibit
variable valency?

1) Normal element 2) Typical elemernt
3) Transitional element 4) None of these
Q120) ‘Which one is addition reaction:
1) Zn+H:S04—
ZnS0at+H2

2) 2KBr+Clr—2KCHBr2

3) 2H2+Q02—-2H20- 4) 2HgO—2Hg+On

Q121). Which compound has both covalent as well as

I co-ordinate bond?
1) HS 2) COz 1) HS 2) COz
3) H0 4) SOz 3) H0 4) SOz
Q122) HHT W7 §- Q122) Cemplex salt is~
1) &% wehe 2) Bif3gA FEEeE 1) Zinc Sulphate 2) Sodium hydrogen
m Sulphate
3) A IR 4) EgreAE HET () 8) Iron ammonium  4) Tetraammine
AT "oE. Sulphate Copper(ll) Sulphat®
Q123) FomAEa UIg & aEw & Q123) Calamine is the ore of metal:
1) R 2)! |
1) m 4) e 1) Copper 2) Aluminium
3) bl _ | )m 3} Zine 4) Jron
NTS 2020 20 — _‘ag_,_,,—-




g124) ¥® I & GTFT O T A . - |Q124) Acid used in Lead Batteries is; 7 .
1) HCI 2) Hz804 | 1) Hei 2) H2S04 .
3) HNOa - 4) H2COs. ' 3) HNOs, .+ 1 4) HoCOa
Q125) %A ToaA Rfr & frw v "F mm ET ~ | Q1285) Which type of ores ara concentrated by Froth
HeEoT T 7 | floatation process:
1) RS T 2) UEHIGE FAEH - 4 | 1 4) Oxide ores 2) Sulphide ores
3) wuifde FTEF . 4) TR WEF L © 3) Carbonate ores  ,: 4) Nitrate ores
2126) T & wi e mrmgs B2 0 . [ Q126) Which of the following is amphoteric oxide:
1) Naz0 ©2) 803 vy 1) Na0 2) 802
3) AlOs *4)Cad . - o 3) AO; 4) CaO
Q127) #I9 & W & q9 RAZI07 F0dez § 12 |Q127) In human body temperature contrel centre is-
1) wihisag 2) syt - 1) Epithalamus 2) Hypothalamus:
3) dowa | 4) Ao @it | ' 3) Thalamus ' - 4) Medula oblongata
Q128) = F3W WG F FAC e FRE % Q128) Which factor is responsible for Green House
. o . Effect- o
1) H0 "2 0 W 1) RO 2) CO
il ; R
3) S0z . 4) CO2 ' 3) SO2 ' 4) CO2
Q129) wEvfawa gwﬁ;q:r #{ a‘a’a-‘mur ﬂ? ﬁa‘m f?ﬂ:r e | Q128) Which one of the followmg element is essential
: | for synthesis of Thyroxin Hormones-~
$r AJTFeTHAT g & ‘
yRw z) amge t T Y | ) Zing 2) jodine
~ i 2 iy p
3) = 4) HT$§’I’GFT ‘ i 3) Boron 4) Nitrogen
Q130) awﬁm A gy I sa:a-‘; & Q130) Smallest unit of classification is-.
3) oy " 4) FF . PR : 3) Order - 4) Kingdom
Q131) Ber AT e &9 & T | Q131) Which of the following is not a part of the
R " ﬁ e # e o female reproductive system in human beings-
GO o e L
1) iz . 2) R ' 1) Ovary 2} Uterus
3) Rwafh . 4) F AR Co 3) Fallopian tube - 4} Vas defereus
Q132) frm =¥are (Faemar qraAE Q132) Most powerful digestive enzyme aceurs in
32) R wiflrnior 2 Jy ey ST ) \hich cell organelies-
1) A 2) R waw 1) Mitochondria 2) Chloroplast
3) Meshery 4) FEEEH ( 3) Golgibody 4) Lysosome’
1
i Contd,
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Q133) wrera s # FRE E

Q133) Causative-agent of Kala azar (Black fever) is;

1) Famy 2) Ry 1) Bacteria 2) Virus
3) e - 4) FEH | 3) Protozoan - 4) Fungi
Q134) fFfof@a & & few aier & T 1%171‘[ qeq | Q134) Unisexual flowers occur in which of the
following plants~
A #-
1w o o - EEwRT- o 1} Mustard . 2) Tomato:
) 7 < 8) a|e . 3) Pea 4) Watermelon
Q135) qRET ¥ Sfw ToE E L e Q136) Biotic componerts of ecosysterm are-
1) IcESH c2) 3w - ¢ 4! | 1) Producers 2) Consumers
3) IqETH 4) 3adee wolt 0 3) Decomposers 4) All of above
Q136) R & ¥ fw gt & arge @% g7 | Q136) Which one of the following substance is
changed into amino acid afier digestion-
AR I A & O
1) W& - 1 2) iliﬁﬂﬁl?,gt - 1) Protein . 2) Carbohydrale
O S 4) =FTF W~ 3) Fat 4) Nucleic acid
Q137) IS wofEEiE = g T | Q137) Source of Penicillin antibictic is-
) Sy ) FEE | 1) Bacteria _ 2) Fungi
3) g  4) Yo ) 3} Virus 4) Algae
Q138) ATAEERIA gla &1 3G g B S Q138}) Testosterqr; Hormone is produced in-
1) IRT AR & 2) T ARFH 1) Leyding cell 2) Kupffer cell
3) Zaerar IR ﬁ.: 4) 39T 7 & Tl 3) Granulosacell  4) None of above
_.Hﬁ .
Q139) rgsg # Toir ot oy T el & | Q139) Number of sex chromosomes in human beings
are-
1) 23 - 2) 46 1) 23 2} 48
H1 . 42 31 42
Q140) PreATaf@a # frd FIRE © ‘JTeTgear 9 | Q140) Which of the following is known as the ‘suicide
e FEa dr bag' of the cell?
;: :::wa z_’ RS 1} Plastig - 2) Mitochondria
: 4) mﬂ 3) Ribosome 4) Lysosome
 NTS 2020 = EO—J-'-'*""
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sofxs frox
141} w0 R WX R Th A

1) 1910 A 21921 &
9 198 A 4) 1942 &

0142) wuw wiYfeas v § -
1) Wiz 2) T
9) ugfz 4) bz

0143) fwak wow WH # Anruds g smEr
1) whw 2) péada '
¥ T e 4) TAR TR

Q144) R & IMFAYT & VAT I HRT W Ay
TS W HA Ur?

1) " 2) ®t§
3) g 4) wog
Q145) Yemr ¥ FWYR W A -
1) R 2) vig
3 oy af 4) =9 ¥ B A
Q148) RFd & frw geaw @ Tt & B o
LE A
1) wFEw 2) ywrzedw fash
3) HETY IS &) ZRH Ay
0147) =7 aanE RORY e e AT B -
1) e 2) 5
3} 3w 4) wEsTE

Q148) oftg way Rimer #r sTRa & A & A -

) Fowe W s 2) A

3) st 4) AT wE
149) “werams sy 7 Rad w3 BT
f*ﬂf:ﬂnm?
YW wtate 2) o deed
REALE R 4) wré sievs

Soclal Science

Q141) The Harappan Civilization was discovered In

the year
1) 1910 2) 1921
3) 1935 4) 1942
Q142) The First Literary Source is~-
1) Rigveda 2} Samveda
3) Yajurveda 4) Atharvaveda
Q143) During whose reign Megasthenes visited te
India?
1) Ashoka 2) Harsh Vardhan
3) Chandragupta 4) Kumar Gupta
- Maurya :

Q144) Which dynasty was ruling over North India at
the time of Alexander's invasion?

1) Nand 2} Maurya
3) Shunga 4) Kanva

Q148) The Name of Shershah in childhood was -
1) Hasan 2) Farid

3) Sher Khan 4) None of the above

Q146) Which sultan of Dethi has also been called ‘A
; mixture of opposites' 7- ,
1) Balban 2) Alauddin Khilji
3) Mohammad ~4) Ibrahim Lodi
Tughalaq .
Q147) The Emperor was called ‘Kalandar’ ~
1) Babar 2) Humayun
3) Akbar '4) Shahjahan
Q148) Famous 'Peacock Throne’ was taken away out
of India by -

1) Ahmad ShahAbdali 2} Taimur
3) Dalhousie 4) Nadir Shah
Q149) ‘Subsidiary Alliance' was implemented during

period of - , ;
2) Lord Wellesley

4) Lord Auckland

1) Lord Comwallis
3) Sir John:Shore

WTa




otso)ﬁmﬁﬁa##ﬂﬂmmﬁﬁ |
G-
1) #¢ vEiRPveE  2) B
fowr gu
3) T HRe 4) R w&@US
Q151) “zreT G & WeTHh & AN qad ?
1) W A 2) gAY T A9
3) A FA #) e e

Qi52) Frfafed & } S aRdg TG e
1) @@ MR faww.  2) EEes AR
3) WSS 4) FiraTer FoOT ANER

Q153) Rwrm wid AEer &

or;e of the following writings.is Not

ikt ahatma Gandhi -

| 0
Q1% related to M

1) My Experiments with 2) Harijan
© fruth

3) Das Capital 4) Hind Swaraj

Name the founder of ‘Gadar Party'-

2} Subhash Changzq
Bose

4) Madan Lal Dhingra

Q151)
1) Lala Hardayal

'3) Madam Cama
Q152) Whoamong the following was not known as
Moderate in the Indian National Movement?

4) Bal Gangadhar Tilak 2) Dadabhai Naoruj

:3) M.G.Ranade 4) Gopal Krishng
| Gokhale

Q153) The Himalayan mountain range is an example

1) & 2) afem vde 4} Block mountain 2} Folding mountain
3) STy Tde 4) 3afrse o 3) ‘Volcanic mountain . 4) Residual mountain
Q154) 7w FoeT G - Q164) The forest of Ganga-Brahmputra-deita is
~STHIA
. known as-
1) WEEER 2) A=A A 1) Evergreen Forest  2) Monsoan Forest
3) X T 4) 9553 a5 3) ‘Sundar Ban 4) Deciduous Forest
Q155) 3R v & fraw o &2 Q165) How many districts are in Uttar Pradesh?
1) 70 2) 75 1) 70 2) 75
3) 80 4) 85 3) 80 4) 85
Q156) FFrr FeEw P g Q156) ":T'?th:i:; continent the Sahara desert is:
| ] N situated-
1) cfdoh s@Rer F 2) anfer & 1) ¢ .
T 4 ) South America 2) Africa
3) uftrr & 4) 3 AT F 3) Asi )
Q157) @ s i -Adls 4) North America
2157) el ST P wFEA §-
| | & Q167) The Blue Revolution s related with-
| 1) gaod Graln 2) Fish Production
3) &Y 3IcaeH 4) RreEe e reduction o
_ | %) Mik Praduction  4) Oll seed Productio”
QIE8) B w ORI A1 IMOT (NG w7 | Q188) “The 1 art e mission{ONGS)
— 3 WS sot 4y ima ural Gas Commission(ON>™
1) 1956 2) 1957 q
3) 1959 4) 1961 ') 1956 2) 1957
| N 3) 1es89 4) 1961
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159) R arafem & e S T & e

A §-
9) wady 2) vy
3) ¥ 4) wedr
160) O T TS et X e £2
1) ofEa 2)de -
3) ¥RA 4)wmmamﬂaw

1181) A WK SRy Fgl ﬁl‘zra-_a?

nmwrd  ghaerd
) RAma e A HhdewwF
0162) R wdew Raw #a F=mar s &2 o
f) 5 SwrEd L. 210 Rumw
3) 5 427 R
Q163) a;mvrarzoﬁ tmzw @rma
1888 FT 021998 FEF .. -
3) 2470 T3 - 4) 30.00 =3

0164) Sy HEr (IMF) & wuer Fa

} mfa?ﬁmﬁma;mmaﬁmﬁi'*

1) T ggw WA - 2)arnwmrrmﬁ'r

3) Rf¥ew wfafy 4)3wmﬁ#a‘|§a€f
| o
0155)mmmﬁ-ﬁmﬁ;mﬁ%mﬂ

1) 1949 . 2) 1966 , .

3) 1881 . 4) 30w B F B

X188) st f ey o worviwar @ T4 §

| ! 1) 18.88 Crores - .

Q159) What is the name of Mid Latitude grass land in

South America?
| 1) Prairie: -5 .. .. 2) pampas‘
. 3) Veld .; 4) Steppes

Q160) Where Thar Desert is located?

1) Pakistan . 2) China
3} India 4) United State of
America

Q161) Where Gobind Sagar reservoir is sﬂuated?

; 1) Uttar Pradesh )
. 3) Himanchal Pradesh

" '2) Hariyana

4} Punjab
Q162) Whe.n Tourism day is celebrated?

2) 10 December
- 4) 27 September

1) 5 January
3) 5 June

,.,'

Q163) Accordmg to Census 2011 the popu!aﬁon of

U.P. is-

2) 19.98 Crores

3) 24.70 Crores. 4) 30.00 Crotes

Q164) |.M.F. was established by the
recommendations of which Committee?

1) Bretton woods
Committee

. 2) Goswami Committee

-3) :Narsingham' 4} None of them
Committee .. .
Q165) In which year India devalued its currency for
the first time?
1) 1949 _ . . 2) 1966
3) 1801 . 4} None of them -

I
Q166) The least Papulation State in india is-

1) s 2) A 1) Sikkim 2) Mizoram
3) = gy . 4) REW 8) Uttar Pradesh 4) Bihar :
Q167) faug % wr seqeg we YA 7 Q167) :ﬂ:::'? is situated the Headquarter of World
1) tm}'l’ 2) FaTST 1) Texasg 2} Canada
3) vy 4) Jar 3) Washington 4) Geneva
W — ' ——— 28 Cord.




Q188) T F1 Rrgd wdvge fhee wfamied

frar?
1) Rt 2) wsH AU
3) Fmeer  4) gt § WY A
Q169) fva $r gad o 7e¢ A & §?
1) TAHT FFT 2) 7 T @
3) AT 4) WF Tqa
Q170) fRusr Jaes A9 ¥ § e @eg o7
1) S wgwo ~2) eafe gguoT
3y Bl wgwer  4) 7 e
Q171) Tw # wegafa arww & 3 § F T
1) Tl F gRT | 2) FEE &
a)m#m’qm"_“ 4) guI= FHAT & gRI

Q172) Rrw o gaer @ FRER aftfaE oRe

G
1) 2001 # '2) 2003 #
3) 2005 # 8) 2007 #
Q173) 9Rg ¥ ARy & RS v & geaaar #
wiFRfea 78 fFar - .
1) @8 2) gHTGTany
3) Wi as 4) UTHT
Q174) 3537 370 WFAFUA o
1) e w2 2) AR
3) I vE AT 4) AwIAT
Q175) sy it war 9 gy o
Jeggar Bewer fr o
1) ofeaere ey 2) & ooy warg

3) 37 &t IV IdEET 4) vw & FTEY

Q168) Who has first developed the theory of Rengp

2) Adam Smith
4) None of them

1) Recardo
3) Marshall
Qi69) Which Canal Is largest in the world?
* 2) Ram Ganga Cana
.4) Suez Cana)

1) Panama Canal

3) KraCanal
Q170) ‘Chipko Movement' was basicalfly against:
2) Noise Pollution
4) Deforestation

1) Water Poliution
3) Soil Pollution

| i Q:I 71) The President’s Rule in a state means that the

state is ruled by-

The President 2) The Chief Minister

1)
3) The Governor of the 4} The Prime Minister
, - State . .
Q172) Inwhich year "The Right to Information Ac®
was passed -
1) 2001 2) 2003
3) 2005 - ‘4) 2007
Q173) The Constitution of India primarity did not
include in its preamble
1) Sovereign | 2) Socialist
3) Demacratig 4) Republic

Q174) Atticle-370 was associated with
1) Uttar Pradesh 2) Nagaland
3) Jammu & Kashmir: 4) Telangana

Q176) ‘Who.presided over the first meeting of the:
Indian Constituent Assembly?

1} Sachchidanand
Sinha

3) Dr. B. R. Ambedkar 4) M.\. Kamath

2) Dr. Rajendra Prasad

| -NTS 2020.
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,,,,mmmma:mmﬁrmm

wa 7 !
1) IR 2) g #r
s,mmf 4) IREafy
o177 PETRTEE # & e P ama &
qregafer gI A€ ¥ Sl g
1) e WITEAET 2) NRT & |
E@‘-«‘-ﬂTﬂT‘éﬂET'j..
3 9w o e 4) wuwEe
Q178) W T r A Agar e E -
1) Romeedr 9fSq 2) AT P
3) arEad &= 4) A TAR

Qi78) wmmmwwwm
T -

1) 3T w7

3) T

| 2) few
4) TRT

QIB0) #IT ¥ S HTH TLAX A <
1) wEwd 3 N 2) o, SRR B

3) T Wi 4) 31, 3rege HAH

Q176) Who appoints the Chairman of Union Public
Service Commission?

1) President , 2) Prime Minister

3) Chief Justice of India 4.} Vice President
Q177) Which of the following appointments is not
made by the Presndent of India?

| 4) Speakerofthe Lok 2) Chief Justice of india
" Sabha

3) ChisfofArmy  4) Prime Minister
Q178) The first female speaker of Lok Sabha is -
2) Sucheta Kripiani

4) Meira Kumar

1) Vijay Laxmi Pandit
3) Tarkeshwari Sinha

Q179) The s!ate in which Panchayaa Raj was

introduced first -
1) Uttar Pradesh ~ 2) Bihar
3) Rajasthan  4) Gujrat

Q180) Who was the first Muslim President in India?
1) Fakhruddin Ali
Ahmed

3) Salman Khursheid |

" 2) Dr. Zakir Hussain
4) Dr. Abdut Katam
Azad
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Q181) fwfaf@a & & v wua &

ROIGIOMMORION
PO @iwe?

uﬁium 1
Q182) frdl w7 & BRI 7 15 veqolt &1 AT 50

¥ IR wor 15 dwoit 7 AT T YRTO F

AT waTen 48 3N 53 § @ dar YeTor F-
1) 35 " o
3) 72

) 2) 80
‘ 458 _
Qi83) y mwﬁﬂﬁﬂgﬁﬁa\’ﬁ@ﬁa&(ﬁ@
3T B(4,3) ¥ TR @, &
1) @, 0) 20, 9
3) (0. 4) Hey
Q184) a® (Sech - tanB) = k, 5@&f k + 0, d@
(Secd + tanb) #7 AF ¥

iy 1-1 T2tk
n g 2
3H1+k 9

Q185) & =1 g AW fowd fow @ wefewr g
x+2y=5 3N Ix+ky=15 & FE gA 77 &, &

1) 6 2) -6

s 3 y 2

3) 2 {4) 3

Q186) 7 x=1 FHreol ax?+ax+3=0 FuUr
W+x+b=0 F INAMAS | &, 7 ab & AW

T —

Maths

Q181) Which of the following statement is true?
’(%)'z (3 )f S )Zfs()
EOLEOLRNOIO
The rean of 15 observations written in some
order is 50. If the mean of first eight

observations and last eight observations are 48
and 53 respectively then the eighth observation

i
¥

Q182)

is:. |
1) 35 - 280
372 . 458
Q1 83) The point on the y-axis, which is equidistant
l from points A(6,5) and B(+4,3) is:
1) 8,0 2) (0.9
3) {0.4) 4) (0,3
Q184) |f (Sech - tan0) = k, where k = © then the vaiue
of (sece +tanf) is-
11 )1k
k
3) 1+k 41
k

Q185) The value of k for which the system of lineas
equation x+2y=5 and 3x+ky=15 has na

solution, is:,
1) 6 2) &
3) 3 4

2 4

Q186) Ifx=1 is a comman raot of the equations
ax2+ax+3=0 and x?+x+b=0 then the vaiue of a0

Is:
T
13 2) 35 1) 8§ 2 3§
36 4) -3 3) 6 4) -3
NTS 2020 28

Contd.




g TR AR AT SR AALL ARG A lQ1B7,. It points (a,0), (0,b) and (1,1) are collinear,.

{1Ia + /o) w1 T B . E - then the value af‘(_1la +1p) is:
R 22 : 1 2) 2
0 e ] e 4
& (a.b), (be) T (ca) Ryt & 31 | Q188) if the centrold of the triangle fcrmedtzy points.
: : . S Fi i L (a,b), (b,c) and {c,a) is at the origin, then
i Feedh, A A 9T 8, 9 a¥+be? ey oty a8
abe )0 - - 1) abe 2) ¢
atb+c 4) 3abc 3) arb+e ' 4) 3abe
fargat (CosO, Sinb) T (Sind, -CosB) % | Q189) The distance between the points (Cos8, Sin@)
L2 - S i and (SinB, -Cosh) is:
o a2 | s 2am

R A B IAEA FT 35%, B B e & Q190) 1f35% of income of A is equal to 25% of

income of B then the ratio of incomes of A and
25%$W%HEA B aﬁ’rmaﬁu‘rasr : Bis:

IR E & COE ok g
43 2) 57 : 1) 43 2) 5:7
75 4) 43 3 75 T 443 -

I & vt ¥ 3raast & Hura 27:64 ‘é‘ ad 0151) If the ratio of volumes of two cubes is 27-64
" then the ratio of their surface area is:

3 T8 ARl @ e & - |
34 L 2)4:3 —_ b1y 34 ‘ 2) 43
9:16 , 4) 16:9 3) 816 . 4) 169

| - . r % 30% & w4 aur | Q192) Ifthebaseofatrlangl-eisdeeraasasbym
IR OF P & Hmum # 30% -and its height is increased by 25% then the

g ABy Mg mATAA AT F | percentage decrease in area of triangle is;
e ¥ ofdera weh ¥ '
20%. 2) 15% : 1) 20% _ 2) 15%
22.5% 4) 12.5% 3) 22.6% 4) 12.5%
| 0193) The equation of the base of an equilateral
O HATE Foger 5 LR T AT L wiangie e xy-2e0: I one of o vertex is (2.-1).
X+y-2=0 ¥ ufx (2,-1) Fwaw o o ¥ A@ than area of triangle is:
ﬁﬁﬁr T B & | |
AW - ' 1) _1_sq.unit 2) {3 sq. unit
2 J" " 9 ;.-‘E o 278 12
| 2 g E & ST otek . 3 %sq‘. unit 4) 3{3 sq. unit
3 ' : T ' &
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Q184) uF g7 A 2 hard AB afir AC aﬁrm?a:
Faer: 6 o Ay 8 ¥k E1 AR ZBAC=90°

aa g & e
1) 25 &0 2) 3 &AY |
3) 4 ¥ 4) 5 gt
Q195) af Cos 43° = __x__, 89 tan 47°

W AW R |
= 2) .__V_AW ,

y X R
¥ Y X dery?

Q196) Ry R welewol 23 +4x+(a+5)=0 & FAW
HR AW (a+d+ax-3b=0 F HEHE AFAD

mdm A Aaswa e
y 8=-3,b<3 - ya=3,b>3
1) 3 2) 3
a=-3,b>3 a=3,b<3
3 4 4) 4

s 12NBY° T A &
2)1
. 4) aReIRg

Q197) tan1*tan2®
] 90

k: I
3L

Q198) (315722 # Sard & TUW 9T IF &
H1 2)3
37 49

Q199) 9 R x 11 Fofr x 12 ¥ e oy onfeaw
oo # Muanst 0.3 3 anw #r e
e aardy ord #) REt # FEm g
1) 84000 2) 10500
3) 78000 4) 86000

Q200) wF R Q W v W W wof v & s
24 3o W Q # @ & o & T 25 W

el

of chords AB and AC of a girgje
he lengths of chords 06 & Circlg
@14 T?:eimgand gcm respectively. If ZBAC=ggo
tahen the radius of the circle is.
1) 2.5cm 2 Jom
3) 4cm 4) 5cm
Q198) If Cos 43° = _X_. then the value of
tan 47° I8
x h+y?
4 _x
3' X et sl
- Ty

Q196) if the quadratic equations DErAx+{a+5=0
have equal roots and {a+cf}xz+ax-3b=0 have
distinct real roots then which of the fellowing is

true:
1) a=-3,b<3 2)a=3b>3
‘ 4 4
j & :

Q197) The value of tan1® tan2®....... tan89%is.

1) 0 2) 1

3) 1. 4) not defined
Q198). The digit at the unit piace in (3157129 i

1)1 23

b4 499

Q198) A metallic cuboid of dimension Scm x Tiem %
12em is melted ang recasted into spherical

balls of diameter Q.3¢m. The number of balls
will ba:

1) 84000 2) 10500

3) 78000 4) 88000

Q200) The length of tangent drawn from & point Q &
8 circle is 24 cm ang distance from Q from the

. / “entre of circle is 25 ¢m. The radius of circle i¥°
1) 7 A 2) ‘12 A 1) 7em 2} 12cm

3) 15 ¥ 4) 24.5 ¥ a} 16 cm 4) 24.5 cﬁ
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